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73 _ 13 =
1275= __ -275

What is the value of the
underlined digit? 24254

84 +100 =
7.37 + 15.83 =
2624 x 34 =
32 + =8

3 6

5 10
4469 = 41 =
26 x12 =

113 -63=

2543 = -987

What is the value of the
underlined digit? 28653
840 + 100 =

24.86 + 39.639 =

3542 x 34 =

42 + =6

5 10
1 — =

8 16
6027 +41 =

36 x12 =

13%-9°=
8735=___ -2634

What is the value of the
underlined digit? 275424

8.4 =100 =
83.08 + 36.97 =
7543 x 34 =

54 + =6

7 3

9 4
7339 +41 =

49 x 12 =



I = S B R

73-13=342 113 -63=1115

1275 =1550- 275 2543 = 3530 - 987
24254 = 4000 28653 = 20000

84 +100=0.84 840 +100=8.4

/.37 +15.83=23.2 24.86 + 39.639 = 64.499
2624 x 34 = 89216 3542 x 34 =120428
32+-4=8 42 +7=6

3,6 _12_,1 5,110 51

5 10 10 5 8 16 4

4469 =+ 41 =109 6027 +41 =147

26 x 12 =312 36x12 =432

13%-9%=1468

8735 =11369 - 2634
275424 = 70000

8.4 +100=0.084
83.08 + 36.97 =120.05
7543 x 34 = 256462

54+9=6
7,3_5_,19
9 4 36 36
7339+-41=179
49 x 12 = 588



